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FUNDAMENTAL MATHEMATICS VI  Review problems for Final Exam

Factor out the term with the lower power. 
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8.   Solve each of the following and write your answer using interval notation.  Interpret a) and c) in terms 

      of distance on the number line. 
        a)  
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9.  Write a formula for an exponential function with an initial value of 250 and 
     a)  growth factor of 1.10

     b) growth rate of 5.5%

     c) decay rate of 7.5% 

10.  How much money would be in an account after 15 years if you deposited $1,500 at 6.5% compounded

   a)  annually

   b)  quarterly

   c)  monthly

   d)  daily

   e)  continuously


         
11.   Find the effective annual yield for an account which compounds interest 3.5% daily. 
12.  Explain why in the formula  
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  the variable C  represents the beginning 

     amount of your quantity, given that the variable t  represents time.
13.  Suppose that you need $5,000 in 3 years and found an account that will give you 7% compounded 

      quarterly.    How much would you need to invest now so that you will have that $5,000 in 3 years?
14.   Identify each of the following as a growth or decay exponential function.  Identify the growth or 
        decay factor, rate, and the initial value. 
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15.  For each of the dynagraphs below, identify the type of function represented: is it linear or exponential?   

      Explain.  Then write a formula that represents the function. 
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16.  How many people would live in a town after 8 years if 10,000 people lived there originally and 1.5% left 

      town every year?   
17.  The amount (in milligrams) of a drug in the body t hours after taking a pill is given by           
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a) What is the initial dose given?

b) What percent of the drug leaves the body each hour?
c) What is the amount of the drug left after 10 hours?
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18. Write a formula for an exponential function with an initial value of 5,000 and halving every time period.
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19.  Write a function rule for each of the following graphs. 
a)                                                                                                 b)
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c)                                                                                                  d)
20.   Characterize the graph of each of the following, naming domain, range, initial value (y-intercept), end 

       behavior, and  horizontal asymptote.  Then sketch the graph. 
       a)   
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21.   How much money is in an account after 8 years if you deposit $1200 and the account gives 4.5%   

       compounded continuously?
22.   How much would  you need to invest now in an account that gives 3.5% compounded continuously if you

       want to have $2,000 in 5 years?
23.  Which is the better deal: an account that pays 4% compounded daily or one that pays 3.95% 

      compounded continuously?

24.  The number of people in a small population after t years is given by 
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         a)  Is the population growing or shrinking?


         b)  What is the initial number in the population?


         c)  How large is the population after 10 years?
25.  The number of people in a larger population after t years is given by 
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        a)  Is the population growing or shrinking?


        b)  What is the initial number in the population?


        c)  How large is the population after 10 years?

26.  Solve the following equations:

       a)  
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27.  Find the following.
      a)   
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28.  Write in exponential form: 

      a)    
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29.  Write as a logarithmic equation: 

       a)  
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30.  Find the domains of the functions given by each of the following:

     a)   
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31.  Characterize the graph of 
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, naming the domain, range, asymptote, x-intercept, and end 

       behavior. 
32.  Solve each of the following.

       a)  
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